

Converting Celsius to Fahrenheit (A)

Estimate or convert the temperatures.

$-44\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$75\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-74\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$39\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$90\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$56\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$53\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-46\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-11\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-63\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$73\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-20\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-3\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$97\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$11\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$23\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-88\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-23\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$43\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$60\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$49\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$67\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-13\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-38\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-74\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$76\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-13\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$47\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-11\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$45\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$